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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar
;1isdigit(c);c=getchar
;isdigit(c);c=getchar

const int N= ;

int n,m,alN/,b[N]|,c[N];

int sum/N<<2],la[N<<2];
#define lson k<<1,1,mid
#define rson k<<l|1,mid+1,r
void pu(int k
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sum/k!=sum|k<<1]|+sum|k<<I]|

void pd(int k,int 1,int r
Ilalk

lal[k<<l]=lalk<<l|1l]=sum[k<<l]=sum[k<<1l|1l]=
lalkl=-1;

lalk]==

lalk<<l]=la[k<<1|1]=1;
lalkl=-1;

int mid=1+r>>1;
sum|k<<1|=mid-1+1;
sum|k<<1l|1l]|=r-mid;

void build(int k,int 1,int r,int x

lalkl=-1;

= sumlkli=(all]l>=x); ;
int mid=1+r>>1;
build(1lson,x);build(rson,x);
pulk);

void ch(int k,int 1,int r,int a,int b,int v

a>b o
a<=1&&b>=r

V== sum/ kl=lalk]=0;
sum[kl=r-1+1,lalki=1;

’

int mid=1+r>>1;pd(k,1,r);
a<=mid) ch(lson,a,b,v);
b>mid) ch(rson,a,b,v);
pulk);

int query(int k,int 1,int r,int a,int b

a<=1&&b>=r sum|k]|;
int mid=l+r>>1,res=0;pd(k,1,r);
a<=mid) res=query(lson,a,b);
b>mid) res+=query(rson,a,b);
res;

int chk(int x
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build(1,1,n,x);
int i=1;i<=m;i++

blil<cli
int s=query(1l,1,n,bl[i],cli]);
ch(l,1,n,clil-s+1,clil],1);
ch(1,1,n,blil,clil-s,0);
blil>cl|i
int s=query(1l,1,n,cli],b[i]);
ch(l,l,n,cli],clil+s-1,1);
ch(1l,1,n,clil+s,bl[i],0);
// cout<<x<<endl;
// for(int 1i=1;i<=n;1i++)
// cout<<query(1,1,n,1,1i)<<endl;
query(1l,1,n,(n+l)/2,(n+1)/2);
int main

n=read();m=read();
int i=1;i<=n;i++
alil=read();
int i=1;i<=m;i++
blil=read(),clil=read();
int 1=1,r=n,mid, res=n;
r>=1

mid=1+r>>1;
chk(mid res=mid, l=mid+1;

r=mid-1;

cout<<res<<endl;

?
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=2010;
const double eps=1le-6;
int n,X1,Y1,X2,Y2,ans;
bool have[maxn] [ maxn];
double f(double x

double Y2-Y1)*x+X2*Y1-X1*Y2)/(double) (X2-X1);
int main

n=read() ;
int i=1;i<=n;i++

Xl=read();Yl=read();X2=read();Y2=read();
X1==X2 :
Y1==Y2 ;
X1>X2)swap(X1,X2),swap(Y1l,Y2);
int x=X1;x<X2;x++

double fl=f((double)x),f2=f((double) (x+1.0));
f1>f2)swap(fl,f2);
fabs(fl-ceil(fl) )<eps
fl=(double)ceil(f1l);
fabs(f2-ceil(f2) )<eps

int y=floor(fl);y<floor(f2);y++) have(x||yl|=1;

’

int y=floor(fl);y<=floor(f2);y++) have(x|(yl=1;
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int i=0;i<=2000;i++ int j=0;j<=2000;j++ havelil[j|)ans++ ;
printf("%d\n",ans);
0;

D.Forest Game

ug
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#include<algorithm>

#include<iostream>

#include<cstring>

#include<cstdio>

#include<cmath>

#include<map>

#define Redge(u) for (int k h[u],to; k; k = ed[k].nxt)

#define REP(i,n) for (int i = 1; 1 <= (n); 1i++)

#define mp(a,b) make pair<int,int>(a,b)

#define cls(s) memset(s,0,sizeof(s))

#define cp pair<int,int>

#define LL long long int

using namespace std;

const int maxn = 400005,maxm = 100005,INF = 1000000000;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

C <48 || ¢ > 57 c == "'-') flag = -1; c = getchar();
c >= 48 && ¢ <= 57){out out << 3) + (out << 1) + c - 48; ¢ =

getchar();
out * flag;

int n,h[maxnl,ne = 1;
struct EDGE{int to,nxt;}ed[maxn];
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inline void build(int u,int v

ed/++ne| = (EDGE){v,hlul}; hlul = ne;

ed[++ne] = (EDGE){u,hl[v]}; hiv] = ne;
struct E

double a,b;

E

E(double x,double y):a(x),b(y
E(int x,int y):a(x),bly
inline E operator =(const int& b
this->a = b; this->b = 0;
*this;

inline E operator =(const double& b
this->a = b; this->b = 0;
*this;

inline E operator /=(const double& b
this->a /= b; this->b /= b;
*this;

inline E operator *(const E& a,const E& b
E(a.a * b.a - a.b * b.b,a.a * b.b + a.b * b.a);

inline E operator *=(E& a,const E& b
= E(a.a * b.a - a.b * b.b,a.a * b.b + a.b * b.a);

inline E operator +(const E& a,const E& b
E(a.a + b.a,a.b + b.b);

inline E operator -(const E& a,const E& b
E(a.a - b.a,a.b - b.b);

const double pi = acos(-1);
int Rimaxn];
void fft(E* a,int n,int f

int 1 = 0; 1 < n; i++ i <R[i]) swap(alil,alR[1 ;
inti=1; i<n; 1 <<=
E wn(cos(pi / i),f * sin(pi / 1));
int j =0; j <n; j+= (1 <<
E w(l,0);
int k = 0; k < i; k++,w *= wn
E x = a ] + kl,y =w *alj +k+ 1i];
alj + k +vy;alj+k+1il =x -vy;
== - int i =0; 1 < n; i++) ali]l /= n;
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LL ans|/maxn/;
int Flmaxn],falmaxn!,siz[maxn!,vis[maxn!,N,rt;
void getrt(int u
siz[u] = 1; F[u] = 0;
Redge(u lvis[to = ed|k].to] && to !'= falu
falto] = u; getrt(to);
sizlul] += siz[to];
Flul = max(Flul,siz[to]);

Flul = max(F[ul,N - siz[ul);
Flul < Flrt rt = u;

int dep[maxn|,md;
E Aimaxn|,Bimaxn];
void dfs(int u
Aldeplul|.a+=1; siz|u] = 1; md = max(md,depiul);
Redge(u lvis[to = ed[k]|.to] && to !'= falu
falto! = u; deplto] = deplul + 1; dfs(to);
sizlul] += siz[tol;

void dfsl(int u

B/deplul|.a+=1; md = max(md,depiul);
Redge(u lvis[to = ed[k]|.to] && to !'= falu
dfsl(to);

void solve(int u

vis/ul = true; siz/u! = N; falul = 0;
int i = 0; i <= N; i++) Ali] = B[i] = 0;
depiul = 0; A =1; md = 0;
Redge(u lvis/to = ed/k!.to
falto] = u; deplto] = 1; dfs(to);
int m= (md << ,L=0,n =1;
N <=m) n <<= 1,L++;
int i =1; 1 < n; i++) R[i] = (R[1 >> >> i6& << (L -
int i =md+ 1; 1<n; i++) A[i] = 0;
fft(A,n,1);
int 1 = 0; 1 < n; i++) Ali] *= A[i];
fft(A,n,-1);
int i =0; 1 < n; i++) ans[i + += (LL)(A[i]l.a + 0.1);
Redge(u lvis/to = ed/k!.to
md = 1; dfsl(to);
m= (md << ,L=0,n=1;
n <=m) n <<= 1,L++;
int i =1; i < n; i++) R[i] = (R[1 >> >> ié& <<
L - ;
fft(B,n,1);
int i = 0; 1 < n; i++) B[i] *= B[i];
fft(B,n,-1);
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int 1 =0; 1 < n; i++) ans[i + -= (LL)(B[i]l.a + 0.1);
int 1 = 0; i < n; i++) B[i] = 0;
Redge(u lvis[to = ed[k].to
N = siz(tol; Flrt = = INF; getrt(to);
solve(rt);
const int M = ;
int Qpow(int a,int b
int ans = 1;
; by b>>=1,a=11L1 * a *a % M
b & ans = 111 * ans * a % M;
ans;

int fimaxn|,fvimaxn/;
int C(int x,int vy
111 * fix] * fvlyl S M * fvix - y| % M;

void calwork

f = 1;

inti=1; i<=n; i++) fli] = 111 * f[i - * i % M;
fv = 1;

inti=1; i <=n; i++) fvii] = Qpow(fli] ,M - ;
int Ans = 111 * fin] * n % M;

int 1 =1; i <= n; i++) ansl[i! = (ans|i] / % M;

//REP(i,n) printf("dis %d cnt %lld\n",i,ans[i]);
//cout << C(3,2) << endl;
int 1 = 2; 1 <= n; i++
lans|i ;
Ans = (Ans + 211 * C(n,1) %$ M * f[i - % M* fin - 1
ans/i] % M) % M;

o°
=
*

printf("%sd\n",Ans);

int main
n = read();
int i =1; i <n; i++) build(read(), read ;
Firt = = INF; N = n; getrt ;
solve(rt);
calwork();

E. Lines Game
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
#define int long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N=100055,inf=111<<50;
int n,m,alN/,b[N],cIN!,v[N],fINI;
int s[N|/,s2[N];
int mn[N<<2];
bool cmp(int x,int y
alxl<alyl;
#define lson k<<1,1,mid
#define rson k<<1|1,mid+1,r
void pu(int k
mnkl=min(mn|[k<<1|,mn{k<<1]|1]);

void build(int k,int 1,int r

1== mn/k|=inf; o
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int mid=1l+r>>1;
build(1lson) ;build(rson);
pulk);

void ch(int k,int 1,int r,int a,int b

l==r) {mn[k|=b; ;
int mid=1+r>>1;
a<=mid) ch(lson,a,b);
ch(rson,a,b);
pu(k);

int query(int k,int 1,int r,int a,int b

a<=1&&b>=r mn|k];
int mid=1+r>>1, res=inf;
a<=mid) res=query(lson,a,b);
b>mid) res=min(res,query(rson,a,b));
pu(k);
res;

void solve(int 1,int r

l==r ;
int mid=1+r>>1,tp=0,tp2=0,11=mid-1+1,12=r-mid;
solve(l,mid);

int i=1;i<=11;i++

blil=1+i-1;

int i=1;i<=12;i++

clil=mid+i;
sort(b+1,b+1+11,cmp);sort(c+l,c+1+12,cmp);
int now=1;

int i=1;i<=12;i++

now<=11&&a b/ now] I<alc|i

tp&&s | tpl<blnow
ch(1,0,n,alsitp!|,inf),tp--;
ch(l,0,n,als[++tp/=blnow!]|,f[blnow ;
now++,;

tp2&&s2 | tp2i>clil) tp2--;
int pos=0;
tp2) pos=als2/tp2| +1;
ficlill=min(fic[i]],vic[i]]/+query(1,0,n,pos,alcli ;
s2[++tp2l=cli];

int i=1;i<=11;i++
ch(1,0,n,albli]],inf);
solve(mid+1,r);
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main

n=read()+1:alnl=n;
int i=1;i<=n;i++
flil=inf;
int i=1;i<n;i++
alil=read();
int i=1;i<n;i++
viil=read();
build(1,0,n);
solve(0,n);

// for(int 1i=1;i<=n;1i++)
// cout<<f[i]<<endl;
cout<<f[nl<<endl;

0;

G. Dreamoon and NightMarket

ug
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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<queue>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar
;1isdigit(c);c=getchar
;isdigit(c);c=getchar

const int N=200055;
int n,m,alN];
typedef pair<ll,int> P;

priority queue<P, vector<P>, greater<P> > q;

f=-1;
k=k*10+c-'0";

k*f;
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int main
n=read();m=read();
int i=1;i<=n;i++
alil=read();
sort(a+l,a+1+n);
g.push(P(a , ;
int i=1;i<m;i++

P k=qg.top();q.pop();
k.second<n

g.push(P(k.first+alk.second+1],k.second+ y
g.push(P(k.first-alk.second]+alk.second+1],k.second+ ;

cout<<(q.top .first<<endl;

?

F. Lonely Dreamoon 2
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H. Split Game
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=100010;
struct Point

LL x,y;
Point
Point (double 1,double 2):x( 1),y( 2
Point operator - (const Point&s) const Point(x-s.x,y-s.y);
LL operator * (const Point&s) const X*s.y-y*s.x;
LL len X*X+y*y;
a/maxn/;

int n,N,ans,now _ans,R[maxn/;
bool del[maxn];
bool cmp(int xx,int yy

double)a[xx].y/(double)a[xx].x<(double)alyy].y/(double)alyy].x;
int main
n=read( ) ;

int i=1;i<=n;i++)scanf("slld%slld",&ali].x,&ali].y);
al0l=alnl;aln+l]=alll;

int i=1;i<=n;i++ alil-ali+l])*(alil-ali-1])==0)del[i]l=1;
int i=1;i<=n;i++ ldel[il)al++N]=alil;
alOl=alnl;alN+1ll=all]l;
n=N;

int i=1;i<=n;i++)R[1i]=1i;
sort(R+1,R+N+1,cmp);

int i=1;
i<=n
int tmp=0,j;

j=i;j<=n && alR[i] [ *alR[j]|!==0;]j++

int pos=R[j];
alpos|*alpos-1/>=0 && alpos|*al pos+1/>0

alpos-1]-alpos!)*(alpos+l]/-alpos|)>0)now ans++;
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tmp++;
alpos|*alpos-1/<0 && alpos|*alpos+l]|<=0

a/pos-1]-alpos!)*(alpos+l]-alpos|)<0)now ans--;
tmp--;

tmp>0)ans=max(ans,now_ans+tmp) ;
ans=max(ans,now_ans);
now ans+=tmp;
i=];

printf("%d\n",ans+1);
0;

J. Zero Game
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0000000$K$oooooooo
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DO D$ONQ)$

#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
#include<vector>
#include<queue>
#include<cmath>
#include<map>
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#include<set>

#define LL long long int

#define REP(i,n) for (int i = 1; i <= (n); i++)

#define Redge(u) for (int k = h[u],to; k; k = ed[k].nxt)

#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 1000005,maxm = 100005,INF = Ox3f3f3f3f;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

C <48 || ¢ > 57 c == "'-') flag = 0; c = getchar();
C >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + c - 48; ¢ =

getchar();
flag ? out : -out;

int n,m,cnt,K;
char s[maxn];
int Almaxn],B[maxn];

void init
scanf("%s",s + 1); n = strlen(s + 1);
int i = 1;
sii] == '1") i++;
i<=n
int j = 1;
j <né&&sij+ 1] ==s[i j++;
Al++m| = j - 1 + 1;
j=di=]+1;
j <né&&sij+ 1] ==s[i j++;
i<=n) Bml =3 -1+ 1;
Bim| = 0;
i=3+1;

inti=1; i <=m; i++
Ali]l += A[i - 1],B[i] += B[i - 1];
//printf("[%d] ",B[i]);

//puts(u ||),,
int i = 1; i <= n; i++) cnt += (s[i] == '0');

int glmaxn!,head,tail;
void work
g/head = tail = 1] = 0;
int ans = 0;
int 1 = 1; 1 <= m; i++
head <= tail & B/i - 1] - Blqlhead!! > K) head++;
head <= tail) ans = max(ans,Alil - B[i - 1] + K + B[qlhead -
Al gl head ;
ans = max(ans,Ali] - Ali - 1] + K);
//printf("[%d] %d %d\n",ans,A[q[head]],B[q[tail]]);
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head <= tail & B/i] - A[i] >= Blgltail - Algltail
tail--;
g/++tail] = i;

printf("%sd\n",min(ans,cnt));
int main

init();

int Q = read();

Q__

K = read();
work();
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